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Note :

: Tug ‘a7’ aﬁ/@geﬁﬁawaﬁ forad &q 797 €,

Afard &1 @S ‘g’ § &g ST FFR & F¥A & uF
@ue ‘g’ 4 H IHIT T & | @S '’ F qaq TEe
geT ferar ST &1

Section ‘A’ containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’
has to be solved first.

qug ‘31’
Section ‘A’

frelfera sifaerg SWIT 9941 & S T o1 & al

731
Answer the following very short answer type
questions in one or two sentences. 1x10=10

GRTd IElhT &1 HIH-G1 Juiierar &7

What are the system of Cost Accounting ?

P.T. O.

g

10.

Code No. : A.B.B-235
TR YA Tladl ®1 FEHd HITT)
Classify methods of wage payment.

SFTT 9 7 faearor 7 gef3fd &rrd & 3777 & Jarsy |

Describe the cost components appearing in cost sheet

or statement of cost.

gfehal SIFId CIEleh & G G (gl &1 auf
T |

Explain two general principles of process costing.
CY-HAT & Hged &l Fasy |

Describe the importance of P/V ratio.

SYRSTT &1 GRYTIT SHIT TYT 3THT T HITT FAET |

Define overheads and give their classification.

‘RYT 37 FT AT’ dT ‘T8 arTd’ H 3’ TSy

Distinguish between ‘ordering cost’ and ‘carrying cost’.

HIEF GHIYE Gl (9 F8d &7

What is memorandum reconciliation account ?
IR AEFT & &7 T

What is the scope of operating costing ?

for S 4 Ggg T Ay #1 g9 g 82

In which industries batch costing is applied ?
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Code No. : A.B.B-235
e ‘g’
Section ‘B’

freTfera &g ST g9 # I 150-200 I155 T
731
Answer the following short answer type questions

with word limit 150-200. 5x5=25
. T % T acdl & ST F GHE &7
What do you understand by elements of cost ?

37erar

Or

X fafiee & &g & 79 51 9N & GEE [ JFR
a

feravor 2018 2019
3cIeT H1 SHIEAN 800 1,200
3cqIeT &1 HeT T % 14,600 T 19,400

T Te gRadT91cT ITd % 5I2h! & [F4Rd T |

The cost data of X Ltd. for the last two years are as

follows :

[ 3] P.T. O.

Code No. : A.B.B-235
Particulars 2018 2019

Units of Production 800 1,200
Total cost of production I 14,600 < 19,400

Determine the fixed and variable components of

cost.

. 77 g=msi & STYR W 9T Tl ST &1 TUAT

3ﬁ7§ﬂz__

T 77 q FEia que 160
w7 1 AT % 12,000
STFHIT ST Gl % 3,000
TN BT STFHITA SHTTehIeT 10,000 U2
T HIE & HOHG 9 SR T % 120
T HE F A A % 40
ggF IR 5 gTE Ff Fver
qid 578 IIfH X 10 79
Compute machine hour rate from the following
informations :

Working hours for a month 160
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Code No. : A.B.B-235
Cost of machine < 12,000

Estimated scrap value < 3,000

Estimated working life of the machine 10,000 hours

Repairs and maintenance for a month < 120
Standing charges for a month < 40
Power used 5 units per hour
Per unit power rate 10 paise
sferar
Or

57 F FIGXT YA F T ghidl H-a &2
fdt T ggla &1 GHemET |

Discuss the principal methods of wage payments and

explain any one of them.

oY 1 T FHITT—

3cUIRT T Gid geTE % 45
Sclsd shTEAl 30,000
S T gl 27,000
fashd o gfd 578 T 52
o =19 qid 15 )

[ 5] P.T. O.
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Calculate the profit :

Cost of production per unit < 45
Units produced 30,000
Units sold 27,000
Selling price per unit 3 52
Selling expenses per unit 32
3747
Or

1 &, 2010 & 3H7 T W 1,00,000 FT I
oS T 1 Jeurs, 2010 F T 50,000 FHI AT HT
T % 30,000 F &9 527 711 GIT W 15% e
H1 ¥ T g9 I 81 a5 § g 1 AT d9r 31
feamr, 2010 &1 TI7 HT God 7T HIHIC

On 1st January, 2010 a plant costing X 1,00,000 was
sent to site. A part of plant costing ¥ 50,000 was sold
for ¥ 30,000 on 1st July, 2010. Depreciation on plant
is to be charged @ 15% per annum. Find out the
amount of depreciation in the year and value of plant
as on 31st December, 2010.

39T A § SUIAIE B 3R C Scwifed g &1 o &
ggFT 79 25,000 &/ AW 75 gHR §—
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Code No. : A.B.B-235
A B C

fad qoq 20,000 15,000 8,000

faehd T STFHIAT T930% 20% 25%

dIc & Y 3,000 2,000 2,000

39 YT T T [T4STT [69 FHR B 2

Product ‘A’ yields by-product ‘B’ and ‘C’. The joint
expenses of manufacturing are I 25,000. Other

informations are :

A B C
Selling price 20,000 15,000 8,000
Estimated profit
on sales 30% 20% 25%

Subsequent expenses 3,000 2,000 2,000

How would you apportion the joint cost of manu-

facture ?

3qqr
Or

qR=IeT ST 74 F8d &7 39% T 38vT &7

What is operating cost ? What are its objects ?
[ 7] P.T. O.

Code No. : A.B.B-235

5. [ gl G 339G F1 T HIfTT—

(a) Tasa g gfa gete T 10, TRAdT9NT GFId Fid
gHE T 7

(b) Ta%F T 4,00,000; P/V 3TF91T 40%

(c) TR arrd T 40,000; &9 T 80,000

Calculate contribution from the following data :

(a) Selling price per unit 10, Variable cost per unit
7.

(b) Sales X 4,00,000; P/V ratio 40%
(¢) Fixed cost % 40,000; Profit I 80,000.

374ar
Or

GTT ST T fordid &y & &< 3=’ & PRI BT
U FHITT
Explain ‘reasons for difference’ between cost profit
and financial profit.
gue ‘q’

Section ‘C’
freTferd <19 STRIT g9 & IW 300-350 95 HHT
731
Answer the following long answer type questions

with word limit 300-350. 8x5=4(0
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Code No. : A.B.B-235
3RT % T GUerIRk @ fFifaa gt &1 fafy=
ggiadl &1 faa=ar T

Discuss the different methods of pricing the materials

issued from stores for production.

37erer

Or

ST I G 39 FIT GHIT &7 AT @l 9 i
oYl @71 FUA HIfT

What do you understand by Cost Accounts ? Describe

the benefits obtained from Cost Accounts.

TS Y% T SUHT F QT FF § of% a7 |9
2 T FI U1 T W 6 FU2 Al &1 STHT S
§¥ % 1-50 Ffa =ver &1 3G 1 Gl AT % 24
& 3R FREMT SURTT FHeT FeqeT 57 F1 150% =t
e srar &1 3c9e FH1 FREET TRSTT (a) &)

ISTT @97 (b) Ja7 AT & ST=ld 71T BT

A workman takes 9 hours to complete a job on daily
wages and 6 hours on a scheme of payment of result.
His day rate is ¥ 1-:50 per hour. The material cost of
the product is ¥ 24 and the works overhead is

[ 9] P.T. O.

Code No. : A.B.B-235
recovered @ 150% of the total direct wage. Calculate
the factory cost of the product under (a) Halsey

scheme and (b) Rowan scheme.

37q4ar
Or

SURTT T 39 1 GHAT &7 FRE IR %
faaeor &1 fafy= ggfaal &1 faa=Tr FifSw)

What do you understand by overheads ? Discuss the

different methods of allocating the factory overheads.

7 gq# u f7fifa 3cre & I8 SRl 2018 @
gy 5—

g Tl % 1,00,000
g8 Hogil % 28,000
T AT o 4,000
7N U1 T T8

FETT SURET BREH T BT 10%

faska aeor faavor a7 75 99 9fd s&re
fAfifa sl 8,000



Code No. : A.B.B-235
a7 FHEIEAT 7,200

gfa g7E fasd qod T 25

3UYeRT G @ STMYR T Fid gl aFId G9Td gT
AT TAF TR FIT

Following data relate to a manufacturing of product

for the month of January, 2018 :

Materials used < 1,00,000
Direct wages < 28,000
Effective Machine Hours < 4,000
Machine Hour Rate I8

Office overhead 10% of works cost

Selling and Distribution expenses 75 paise per unit.

Units manufactured 8,000
Units sold 7,200
Selling price per unit < 25

Prepare a cost sheet showing cost per unit.

[ 11 ] P.T. O.

Code No. : A.B.B-235
37974
Or

‘] R F & qr 3F @I 7 37 FG T fH
ST &7

What is “Work-in-progress’ and how is it calculated in
the Contract Account ?

T 3R qUf B B TEd M’ F N’ §F Tl @
TSRl &1 77 a1 9 Gihe @rar dar &ifag—

M N
G &g 10% 5%
&g F fawg T 20 T30
T 7397 T 2 9 kg 7,500 3
37 Gt T 15000 % 8,000
g8 gH T 10,000 ¥ 8,000
FRE T T 5225 T 3855
3URT SHET H T 7,000 T 6,200

A product passes through two processes ‘M’ and ‘N’
before completion. From the following information

prepare process accounts :

[ 12 ]



Code No. : A.B.B-235

M N
Normal wastage as % on input 10% 5%
Sale of wastage per 100 kg < 20 < 30

Input of material at I 2 per kg 7,500 units.

Other materials < 15,000 T 8,000
Direct wages < 10,000 < 8,000
Factory expenses < 5,225 % 3,855
Output in units < 7,000 % 6,200
s{qar
Or

TR=TeT AT 74 &ed &7 59% 97 3899 &7

What is operating cost ? What are its objects ?
Fo foafiee HT TR A T 40,000 3R P/V
STTUTT 40% &1 T FHHTT—

(a) FH-fa=q fag,

(b) Ife T @Frd T 10,000 98 ¢ @ 74T GH-
fa=sg forg,

(c) F% faes qea F 10% ®1 FH & e a 77
TH-fa=sg fog |

[ 13 ] P.T. O.

Code No. : A.B.B-235

Fixed costs of Krishna Ltd. are ¥ 40,000 and P/V
ratio is 40%. Calculate :

(a) BEEP,
(b) New B.E.P. if fixed costs increases by I 10,000,

(c) New B.E.P. if selling price is reduced by 10%.

37q4ar
Or

AT AGTHT TYT [T A@ih— & TRUTE & 37’
% FRUT FH T FIIT/

State the reasons for disagreement between the costing

and financial results.

000004 00000
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